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& B byt 1ET 39 37 76 11.7 64.3 300
H2hH R —X 41 35 76 10.8 65.2 200
313 A0 =& 36 39 75 9.0 66.0 150
A1 BEH =R 42 37 79 12.6 66.4 70
541 TR (PS 35 38 73 6.3 66.7 60
613 Kix A 45 40 85 18.0 67.0
741 R A 40 39 79 10.8 68.2 50
841 ]2 Y 43 40 83 14.4 68.6
9fz #E  HEA 47 43 90 20.7 69.3
104iz AR £ 39 40 79 9.0 70.0 50
114 Rl sk 41 35 76 4.5 715
1241 & BT 42 38 80 8.1 71.9
1341 FaH #0iE 39 43 82 9.9 72.1
1441 FTF B— 38 44 82 9.9 72.1
154 = BX 42 39 81 8.1 72.9
164iz WE E# 44 38 82 9.0 73.0
174 =% & 45 41 86 12.6 73.4
1841 A RAKER 38 42 80 6.3 73.7
194z ik BRI 43 42 85 10.8 74.2
20131 =H B 50 46 96 21.6 74.4 30
211 £ ZHA 40 40 80 5.4 74.6
2241 BE HMia 39 41 80 5.4 74.6
234z =T 42 41 83 8.1 74.9
24431 JIR  BA 40 41 81 5.4 75.6
254 BH IET 46 45 91 15.3 75.7
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264z HR OXA 46 52 98 21.6 76.4

27431 e ER 50 48 98 20.7 77.3

2814z MZE ZRER 47 43 90 12.6 77.4

294z WE IEa 48 44 92 13.5 78.5

301iz RIR Al 50 52 102 22.5 79.5 30
3141 FA fF 53 42 95 15.3 79.7

324 BH =5 44 41 85 4.5 80.5

331 IBH =538 48 47 95 14.4 80.6

3441 INR B— 54 50 104 23.4 80.6

354i KA #H— 47 50 97 14.4 82.6

364 2 EIE 51 42 93 9.0 84.0

374 x5 IEH 53 51 104 19.8 84.2

381 E£X IEH 52 49 101 16.2 84.8

39{iz HfE  BE 54 49 103 18.0 85.0

BBE AR REE 51 56 107 19.8 87.2 60
4141 BRA =R 60 48 108 15.3 92.7
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